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Y_mean vs run
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X_mean vs run

Id_bpm0I10

yie

pulllD

50

Entries

1.27

Mean

Std Dev  4.439

11 |II
4

11 |II |II |I
-2

9.11e+04 / 49

-1.023

/ ndf

XZ

—-05

+ 1.937e

p0

50
1551
1520

o
~
wn
<
pull

+-:[ Entries

TJamvtoTdamto Tamt o anmtoT amww TaumtotamtoTamto Tam oo
i N NS B e300 < < B 15165166 GGG S NI I M 6% B B0 B il SO S SS
@

o
~f

AT T T T T T T R U A T O T O D A T O O O O O T T T O O A A A O T

=)
© 2 2 88 8
=
|

_”_Mv___n_u___w___ il _”_.____._*___:__:_._:_”

20

-120



yield_bpmOI10X_ rms vs run
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Y_mean vs run
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yield_bpmOI10Y_rms vs run
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